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1. Write the calculation represented in the place value grid. Find the product.
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¢. Use counters and a place value grid to find the product of 2,539 and 7.

d. Use counters and a place value grid to find the product of 3,065 and 8.
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Complete the calculations.
a. 7,016 x 8

b. In a computer game, Ryan scores 1,024 points for every treasure chest he collects.
How many points will he score if he collects 7 chests?

¢. Sort these calculations by difficulty, starting from the easiest.

Which question will be the easiest to answer? Which will be the most difficult? Give
reasons for your choices.

5,063x3=
2,301x4=
6,347 x 8=
1,011x9=

d. Find the missing digit in this calculation.
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3. a. Ellahasbeen trying to work out 7,053 x 8. ThlH]T

0
She has made a mistake. What mistake has Ella made? 7101513
What should the answer be?
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b. When you multiply a four-digit number by 3, you do not need to make any
exchanges. Always, sometimes or never true? Explain your reasoning.

c. Canyou work out the missing numbers using the clues?
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The four digits being multiplied by 7 are consecutive numbers
The product is between 20,000 and 30,000
The first and last digits of the product are the same

The sum of the first, second, third and fifth digit of the product is equal to the
fourth digit.
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Question |Question Answer
No.
1 a. and b. Write the calculation a. 1,420x6=8,520
represented in the place b. 4,303x4=17,212
value grid. Find the product. |c. 2,539x7=17,773
c. Usecountersand a place d. 3,065x8=24,520
value grid to find the product
of2,539 and 7.
d. Usecountersand a place
value grid to find the product
of 3,065 and 8.
2 a. 7,016x8 a. 56,128
b. Inacomputer game, Ryan b. 7,168 points
scores 1,024 points forevery |c. 1,011x9= (First, no exchanges) 2,301 x4 =
treasure chest he collects. (second, one exchange)
How many points will he 5,063 x 3 = (third, two exchanges and a five-
score if he collects 7 chests? digit answer) 6,347 x 8 = (fourth, all columns
c. Sortthese calculations by require exchanges, five-digit answer)
difficulty, starting from the d. The missing digitis 6.
easiest.
5,063x3=
2,301x4=
6,347x8=
1,011x9=
d. Find the missing digit in this
calculation.
3 a. Identify the mistake a. Ellahas not remembered to include her
b. Always, sometimes, never carried digits in her answer where she has
true. made an exchange. The correct answer should
c. Canyou work out the missing be 7,053 x 8 = 56,424.
numbers using the clues? b. Sometimes. 1,111 x 3 needs no exchanges but
The four digits being 4,444 x 3 would need 4 exchanges.
c. Thereisonly one possible solution: 3,456 x 7 =

24,192





